
Multiply and Divide by 10⁻² (B)Find each product or quotient.
54 × 10⁻² = 10 : 10⁻² =
65 × 10⁻² = 79 : 10⁻² =
76 × 10⁻² = 56 × 10⁻² =
26 : 10⁻² = 51 : 10⁻² =
20 × 10⁻² = 11 × 10⁻² =
75 × 10⁻² = 12 : 10⁻² =
1 : 10⁻² = 37 : 10⁻² =
60 : 10⁻² = 76 : 10⁻² =
47 : 10⁻² = 91 : 10⁻² =
24 : 10⁻² = 42 × 10⁻² =
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Multiply and Divide by 10⁻² (B) AnswersFind each product or quotient.
54 × 10⁻² = 0,54 10 : 10⁻² = 1.000
65 × 10⁻² = 0,65 79 : 10⁻² = 7.900
76 × 10⁻² = 0,76 56 × 10⁻² = 0,56
26 : 10⁻² = 2.600 51 : 10⁻² = 5.100
20 × 10⁻² = 0,2 11 × 10⁻² = 0,11
75 × 10⁻² = 0,75 12 : 10⁻² = 1.200
1 : 10⁻² = 100 37 : 10⁻² = 3.700
60 : 10⁻² = 6.000 76 : 10⁻² = 7.600
47 : 10⁻² = 4.700 91 : 10⁻² = 9.100
24 : 10⁻² = 2.400 42 × 10⁻² = 0,42
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